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2020.01.08. EEERE! - - = 30,000
== 7pol N - XX RNEERE '
2020.01.08. EEECE - - = c T oo 20,000
CRa=a=] el N - SXX RN E d
2020.01.08. HXHS Y2 - - = c o 10,00
CRa=a=] el N - SXX RN E 000
2020.01.10. ENEECE! - - = cToo 10,00
o BT 75 @l _ - SXX RN E 000
2020.01.13. REERE! - - c 1o 10,000
SE T 7ol B - O|XX HA RS A= :
2020.01.18. MREECE! - - = 10,000
SEFET 7@l _ - 0|XX HXH=Q2 !
2020.01.26. HA == - - e 10,00
oFEDo 7K@l _ - O|XX N 000
2020.01.28. ENEECE! - - 5 cToo 300,00
Cha=l=] 7K ¢l _ N 2 XX N 000
2020.01.28. ENEECE! - - cToo 20,00
Cha=l=] 7K ¢l _ N XX N 000
2020.01.30. HXHS Y2 - - cTEo 50,00
Cha=l=] 7K ¢l _ N AIXX N 000
2020.01.30. HIX| HS Q2 - - cTEo 20,000
SEHT 7hel N - O[XX HA RS A= :
2020.01.30. HA == - - T == 30,000
g2 dHeT Jhol B - XX RNEERE :
2020.02.03. REERE! - - 5 c T2 10,00
oTET ik _ - =2hXX HIX| M= el= 000
2020.02.07. REERE! - - c T2 10,00
Chai= ik - - XX HIX| M= el= 000
2020.02.07. REERE! - - = c T2 20,00
CRa=a=] 75 @l N - SXX R 000
2020.02.07. REERE! - - = c T2 10,00
o BT 75 @l _ - SXX R 000
2020.02.10. REERE! - - = c T2 10,000
o BT 75 @l _ - SXX EREERE d
2020.02.11. MREECE! - - aslt= 10,000
SEHT 7hel N - O[XX HAES A= :
2020.02.11. NRERE! - - ———— 10,00
ST EO ik - - O[XX HX|H=2 000
2020.02.26. HXHS 2 - - cTEo 10,0
M= 23 7H ol N - E|XX MR ZIE A2 o= ,000
2020.02.26. HXHS S - _ 5 oo o 2HE 48000
== 7R ¢l _ - 2 XX HX|H=2 000
2020.02.27. REERE! - - c T2 20,00
STFEDT 7R ¢l _ - AXX HX|H=82 000
2020.02.27. REERE! - - cT°C 20,000
SSEET 7R ¢l _ - XX HX|H=82 !
2020.02.28. REERE! - - 5 cT°C 10,000
ST O 7R ¢l _ - HEXX HIX| =82 !
2020.03.02. REERE! - - cT°C 10,000
20200302 HEEEE e - - : XX Ak '
.03.02. X g=d= fel _ - - O|XX RN >0,000
- - _ cT - ° 30,000
BXX HAES A= '
= 20,000




2020.03.09. HXEZ= 2 Jh el - - - - XX HXHSHa 10,000
2020.03.09. HXEZ=2 7h el - - - - 2XX HXHSHa 10,000
2020.03.09. HIXEZ 7h @l - - - - XX HIXE=dF 10,000
2020.03.10. HIXEZ 7h @l - - - - O[XX HIXE=dF 10,000
2020.03.11. HXH=AdZ 742l - - - - 0|XX HXE= = 10,000
2020.03.18. NEEd= 742l - - - - XX MEAYHZ =M S /AT 480,000
2020.03.25. HXE2 = 742l - - - - AXX HXE2 = 20,000
2020.03.27. HXE2 = 742l - - - - XX HXE2 = 10,000
2020.03.27. HXH= A= 742l - - - - BhXX HXE= = 10,000
2020.03.29. NE== - - - - - OIXXX [AMAZEHZE=ME =2 100
2020.03.29. NE== - - - - - Ol XXX KTRGZH ST SAX| & 980
2020.03.29. NE==a - - - - - Ol XXX BRIt E S AL 310
2020.03.30. HXH= = k! - - - - UxXX HXE= = 50,000
2020.03.30. HXH= = k! - - - - QXX HXE= = 20,000
2020.04.01. HXH= = 742l - - - - 0|XX HXE= = 30,000
2020.04.02. HXH= = k! - - - - UxXX HXE= = 20,000
2020.04.08. HIX|H =8l 742! - - - - BXX HIX|E=da 10,000
2020.04.08. HIX|H =8l 742! - - - - BXX HIX|E=da 10,000
2020.04.08. HIX|H =8l 742! - - - - BXX HIX|E=da 10,000
2020.04.10. HXH= = 742l - - - - 0|XX HXIE= = 10,000
2020.04.13. HXH= = 742l - - - - 0|XX HXIE= = 10,000
2020.04.20. NE2d= EHA| - - - - Zasschoooosx| A2 S X| 3& 2 32| A H| 1,000,000
2020.04.23. XNE=d= 742l - - - - XX MEAYHZ =M S /AT 480,000
2020.04.24. HXE= A= k! - - - - AIXX HXIE= = 20,000
2020.04.27. HXE= A= 7h ¢l - - - - QXX HXIE= = 20,000
2020.04.27. HIZ|ES/F ik - - - - XX (EEXX) HXIE= = 10,000
2020.04.27. HXE= A= k! - - - - O[XX HXIE= = 200,000
2020.04.28. HXE= A= k! - - - - UxXX HXIE= = 50,000
2020.04.29. HXE= A= k! - - - - UxXX HXIE= = 10,000
2020.04.29. HXE= A= k! - - - - BEXX HXIE= = 10,000
2020.05.04. HXE= A= k! - - - - 0|xX HXIE= = 30,000
2020.05.04. HXH= A= k! - - - - UxXX HXIE= = 20,000
2020.05.08. HXEZ A= k! - - - - XX HXIE= = 10,000
2020.05.08. HXEZ A= k! - - - - XX HXIE= = 10,000
2020.05.08. HXEZAd= k! - - - - XX HXIEZ= = 10,000
2020.05.11. HXEZAd= k! - - - - O[XX HXIEZ= = 10,000
2020.05.11. HXEZAd= k! - - - - O[XX HXIEZ= = 10,000
2020.05.15. XNE=d= k! - - - - XX MAAYHZ =2 S/AF 480,000




2020.05.25. HIX|E2 = 742l TXX(EEXX) HX|E2 = 10,000
2020.05.25. HIX|E2 = 742l AXX HXE2 = 20,000
2020.05.26. HXE2 = 742l XX HXE2 = 20,000
2020.05.27. HXE2 = 742l XX HXE2 = 10,000
2020.05.27. HXH=AdZ 742l BhXX HXE= = 10,000
2020.05.28. HXE2 = 742l XX HXE2 = 50,000
2020.06.01. HIXEZ /= 7h @l O[XX HIXE=dF 30,000
2020.06.01. HXEZ= A= il XX HIXIEZ 2 20,000
2020.06.08. HIXEZ /= 7h @l XX HIXE=dF 10,000
2020.06.08. HIXEZ /= 7h @l XX HIXE=dF 10,000
2020.06.08. HIXEZ /= 7h @l XX HIXE=dF 10,000
2020.06.10. HIXE= 7h @l O[XX HXE=dF 10,000
2020.06.11. HXH= = 742l 0|XX HXE= = 10,000
2020.06.12. NE8zda 742l XX MAAYHZ =M S /AT 480,000
2020.06.24. HIX|E2 = 742l AXX HIX|E=2 =3 20,000
2020.06.24. HXH= = k! QXX HXE= = 20,000
2020.06.25. HXH= = k! TXX(EFXX) HXIE= = 10,000
2020.06.28. HIX|E2 = - Of| XXX HIX|E2 a3 2,310
2020.06.28. NE8zda - Ol XXX |KTaGAtslZslaiul- 2ol palststet 210
2020.06.28. NE2d= - OIXxx |AM2lESXSS 232 A 60
2020.06.28. NE2d= - OIXXX |HoZEAMI-TEZE2IA 400
2020.06.28. NE2d= - OIXXX  [MAZFHZ=ME Z/F 90
2020.06.28. XNE=d= - Ol XXX EXIN7HF-S A 150
2020.06.29. HXE= A= k! UxXX HXIE= = 50,000
2020.06.29. HXE= A= k! UxXX HXIE= = 10,000
2020.06.29. HXE= A= k! BhxX HXIE= = 10,000
2020.07.01. HXE= A= k! O[XX HXIE= = 30,000
2020.07.02. HXE= A= 7h ¢l XX HXIE= = 20,000
2020.07.06. XNE=d= k! BEXX EXIN7HF-S A 50,000
2020.07.06. XNE=d= 7h ¢l UxXX EXIN7HF-S A 50,000
2020.07.06. XNE=d= k! O[XX EXIN7HF-S A 50,000
2020.07.06. NE=d= 7h ¢l XX EXIN7tF-SAE 50,000
2020.07.06. XNE=d= 7h @l ZXX EXIW7tEF-SAE 50,000
2020.07.06. XNE=d= 7h @l XX EXIW7tEF-SAE 50,000
2020.07.06. XNE=d= 7h @l XX EXIW 7S A 50,000
2020.07.06. XNE=d= k! O[XX EXIW 7S A 50,000
2020.07.07. XNE=d= k! B XX EXIW 7S A 50,000
2020.07.07. XNE=d= 7h @l UxX EXIW 7S A 50,000




2020.07.07. NEERE] Jhel - - - - ZkXX EXIIN 7SS AE 50,000
2020.07.07. N 7h¢el - - - - AXX EXIIN 7SS AE 50,000
2020.07.07. NE8zda 742l - - - - 0[XX EXIIN 7SS AE 50,000
2020.07.07. NE8zda 742l - - - - 0[XX EXIIN 7SS AE 50,000
2020.07.07. NE8zda 742l - - - - EXX EXIIN 7SS AFE 50,000
2020.07.07. NE8zda 742l - - - - 0[XX EXIIN 7SS AE 50,000
2020.07.08. NE2)= 742l - - - - AXX EXIIN 7SS AE 50,000
2020.07.08. HXH= A= 742l - - - - ZXX HXE= = 10,000
2020.07.08. HXH= A= 742l - - - - ZXX HXE= = 10,000
2020.07.08. HXE2 = 742l - - - - ZXX HXE= = 10,000
2020.07.09. NE2)= 742l - - - - O[XX EXIIN 7SS AE 50,000
2020.07.09. NE8zda 742l - - - - XX SR ES ALt 50,000
2020.07.10. NE8zda 742l - - - - XX MAAYHZ =M S /AT 480,000
2020.07.10. HXH= = 742l - - - - 0|XX HXE= = 10,000
2020.07.13. HXH= = 742l - - - - 0|XX HXE= = 10,000
2020.07.13. NE2d= 742l - - - - EXX EXIN 7t S-S AE 50,000
2020.07.15. NE2d= 742l - - - - XX EXIN 7t S-S AE 50,000
2020.07.15. NE8zda 742l - - - - XX EXH 7 E-S ALt 50,000
2020.07.15. NE2d= 742l - - - - EXX EXIN 7t S-S AE 50,000
2020.07.17. NE2d= EHA| - - - - KTXXXXXX |KTRGZAHSZE M=tEX| Y 5,000,000
2020.07.19. NE2d= 742l - - - - 0[XX EXIN 7t S-S AE 50,000
2020.07.24. HIX|E2 = 742l - - - - AXX HIX|E2 a3 20,000
2020.07.27. HIZ|ES/F ik - - - - XX (EEXX) HXIE= = 10,000
2020.07.28. HXE= A= k! - - - - UxXX HXIE= = 50,000
2020.07.28. HXE= A= k! - - - - QXX HXIE= = 20,000
2020.07.29. HXE= A= k! - - - - UxXX HXIE= = 10,000
2020.07.29. HXE= A= k! - - - - BEXX HXIE= = 10,000
2020.07.30. HXE= A= k! - - - - O[XX HXIE= = 30,000
2020.08.03. HXE= A= k! - - - - UxXX HXIE= = 20,000
2020.08.07. HXE= A= k! - - - - XX HIZE=-)F 10,000
2020.08.07. HXE= A= k! - - - - XX HIZE=-)F 10,000
2020.08.07. HXH= A= k! - - - - XX HIXE=-]F 10,000
2020.08.07. XNE=d= k! - - - - UXX Ol ud X|H=RF 500,000
2020.08.10. HXEZ A= k! 0|XX HXIE= = 10,000
2020.08.11. HXEZAd= k! - - - - O|XX HZXE=-]F 10,000
2020.08.14. HXEZAd= 7h @l - - - - QXX HXIEZ= = 20,000
2020.08.14. XNE=d= i - - - - XX MM ZEHZ AT 2Z 480,000
2020.08.25. HIZ|E=/F i - - - - XX (EEXX) HXIEZ= = 10,000




2020.08.26. HIX|E2 = 742l AXX HX|E2 = 20,000
2020.08.27. HIX|E2 = 742l AUXX HXE2 = 10,000
2020.08.27. HXH=AdZ 742l BhXX HXE= = 10,000
2020.08.28. HXE2 = 742l XX HXE2 = 50,000
2020.08.31. HIXEZ 7h @l O[XX HIXE=dF 30,000
2020.09.02. HXEZ= A= 7h ol XX HIXIEZ 2 20,000
2020.09.09. HIXEZ /= 7h @l XX HIXE=dF 10,000
2020.09.09. HIXEZ /= 7h @l XX HIXE=dF 10,000
2020.09.09. HIXEZ /= 7h @l XX HIXE=dF 10,000
2020.09.10. HIXEZ /= 7h @l O[XX HIXE=dF 10,000
2020.09.11. HXH= A= 742l 0|XX HXE= = 10,000
2020.09.11. HXE2 = 742l XX HXE2 = 20,000
2020.09.16. NE8zda 742l XX MAAYHZ =M S /AT 480,000
2020.09.17. NE2d= 742l 2kXX EXIN 7t S-S AE 50,000
2020.09.24. HIX|E2 = 742l AXX HIX|E=2 =3 20,000
2020.09.25. HXH= = k! TXX(EFXX) HXE= = 10,000
2020.09.27. NE2d= - Of| XXX EXIN 7t S-S AE 550
2020.09.27. NE2d= - OIXXX  [MAZEFHZLEME = 90
2020.09.27. NE2d= - OIXXX [KTRGHHZZE M== 40
2020.09.28. HXH= = k! UxXX HXIE= = 50,000
2020.09.28. HXH= = k! UxXX HXIE= = 10,000
2020.09.28. HXH= = k! BhxX HXIE= = 10,000
2020.10.04. XNE=d= 7h ¢l UxXX EXIN7HF-S A 50,000
2020.10.05. HXE= A= k! O[XX HXIE= = 30,000
2020.10.05. HXE= A= k! UxXX HXIE= = 20,000
2020.10.07. HXE= A= k! XX HIZE=-)F 10,000
2020.10.07. HXE= A= k! XX HIZE=-)F 10,000
2020.10.07. HXE= A= k! XX HIZE=-)F 10,000
2020.10.12. HXE= A= k! O[XX HXIE= = 10,000
2020.10.12. HXE= A= k! O[XX HXIE= = 10,000
2020.10.12. XNE=d= ik XX MM ZEHZ AT 2 F 480,000
2020.10.26. HIZ|E2/F ik XX (EEXX) HXIE= = 10,000
2020.10.26. HXEZ A= k! AIXX HXIE= = 20,000
2020.10.26. HXEZ A= k! 2IXX HXIE= = 20,000
2020.10.27. XNE=d= k! O[XX EXIW 7S A 50,000
2020.10.27. XNEzea i XX EXIW 7S A 50,000
2020.10.27. XNE=d= k! O[XX EXIW 7S A 50,000
2020.10.27. XNE=d= 7h @l AIXX EXIW 7S A 50,000




2020.10.28. HIX|E2 = 742l ZUXX HX|E2 = 50,000
2020.10.28. HIX|E2 = 742l AUXX HXE2 = 10,000
2020.10.28. HXH=AdZ 742l BhXX HXE= = 10,000
2020.10.30. HIXEZ 7h @l O[XX HIXE=dF 30,000
2020.11.02. HXE2 = 742l XX HXE2 = 20,000
2020.11.09. HXH=AdZ 742l ZXX HXE= = 10,000
2020.11.09. HXH= A= 742l ZXX HXE= = 10,000
2020.11.09. HXH= A= 742l ZXX HXE= = 10,000
2020.11.10. HXH= A= 742l 0|XX HXE= = 10,000
2020.11.11. HXE2 = 742l 0|XX HXE= = 10,000
2020.11.16. NE== il XX ML HZ =AM =2 480,000
2020.11.25. HXH= A= k! TXX(EFXX) HXE= = 10,000
2020.11.25. HXH= = k! QXX HXE= = 20,000
2020.11.25. HIX|E2 = 742l AXX HIX|E=2 =3 20,000
2020.11.27. HXH= = k! BhxX HXE= = 10,000
2020.11.30. HXH= = k! UxXX HXE= = 50,000
2020.12.02. HXH= = 742l 0|XX HXIE= = 30,000
2020.12.02. HXH= = k! UxXX HXIE= = 20,000
2020.12.09. HXH= = k! QXX HXIE= = 20,000
2020.12.09. HIX|H =8l 742! BXX HIX|E=da 10,000
2020.12.09. HIX|H =8l 742! BXX HIX|E=da 10,000
2020.12.09. HIX|H =8l 742! BXX HIX|E=da 10,000
2020.12.10. HXE= A= k! O[XX HXIE= = 10,000
2020.12.11. HXE= A= k! O[XX HXIE= = 10,000
2020.12.16. XNE=d= ik XX MM ZEHZ AT 2F 480,000
2020.12.24. HXE= A= 7h ¢l AIXX HXIE= = 20,000
2020.12.27. HXE= A= - G| XXX HXIE= = 2,370
2020.12.27. XNEzea - Ol XXX EXNIIE S A 1,420
2020.12.27. XNE=d= - Ofl XXX AT 80
2020.12.27. XNE=d= - G| XXX HAZME-BIRER 130
2020.12.27. XYz ea - Ol XXX Olzo0lud X|F= 40
2020.12.27. ANEzd= - Of| XXX KTRGAHS| S AL H|-H 7 12| b 160
2020.12.28. HXEZ A= k! UxXX HXIE= = 50,000
2020.12.28. HIZ|ES2-F ik XX (EFXX) HXIE= = 10,000
2020.12.30. HXEZAd= k! O[XX HXIEZ= = 30,000
2020.12.30. HIX|E2 = 7h el BhXX HXE2 = 10,000




